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Part 1 : Answer for MCQs

1-2 S 2-1 3-1
4-3 5 6-3
7-3 8-4 5=3
10 -2 11-1 12 -4
13=-2 14-2 1543
16-4 17-4 18=2
19 -2 20-3 21—
22-4 23—3 24-1
25—2 26-2 27 -4
28-3 29-2 30-3
31-1 32-4 33-2
34 - All Correct * P¥  wes 35 - All Correct * -3 36-2
U ol
37-1 38-4 39-4 (T,E) /4,2 (S) ** see below
» 4,2 -~ Sivhs =
40-2
Notes:

*MCQS 34/ 35 => All Correct due to Tamil Version Error
@¢O€ ©xw slobnn e¢lde Ben Bug s BOGE eces eces.

**MCQ 39 option 4 correct for English and Tamil versions . For Sinhala version option 2 and 4

both are correct.
O¢OE 1 PGB @1 320 HBO0T 880 4. Bowe v 3600 4 &3 2 BOCT @d.

paper 2 :

please use the English version as the correct model answer . For Sinhala and Tamil mediums
please check the English version for any clarifications 5
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(Bag © S%a® o / wayu ugoytewgewss | All Rights Reserved]

gonr BEn® ¢ ®otw Do CERPOREE TR
emiast Ul esd basmd ?a o) ) o
rtment of Examinations, Sri Lanka Digpevnimesl; 2
B 590 BEANTIShEoP

amiens UiLmed Prmenksend @

g &
e b‘

[ qosom eo)g Godn og (9Ds 6

‘ s¢) Domda, 2013 e ®ad
sdals Qungis sonsTl usHy (smToess So) ufies, 2013 4 @by
General Certificate of Education (Ord. Level) Examination, December 2013

N

NSNS 0 WSO DITeEHG L II
s, QFTLIUTLY QT L uafwed LI
fnformation & Communication Technology I, 11

eMCHCL & HESedcy maaenn II

* ogBbo ydne 0 20 gun ®acd ;R0 yun cond sk 8Exc; suosin.
* 2e80n gEnd cng 20 985 Bag © gdn v caE 105853 ¢ 88 5.

1.

®

(i)

(i)

(iv) oom mbdm o8ods o 30 gie onsn OO ocmo @.@.@ w0 @ edRc 06 gy atv gowyd

som A 80 E ¢89 eddc 6 g8 Dozi8 mod ¢ quos ¢ ol eg0s? 20z, 92 B8s e @oles
g cddcw Bwo o8 vnd, gunImid egosd 288 =0&:.

A - 201 og® gmma (CPU) w0 gdo» Onnas (main memory) s8mnemnwnn 00 30608 (motherboard)
880 g.

B - s8oen p@sddusl oy (computer program) o® motices mEoBO0 ofemnnd 6 coecs
3008,

C - sBoaimemd o8s30 B8 cog® »nd ne 80 ¢ Budwed 83 oo B 8.

D - s8oeman Om D810 ;B850 slrmmed motis t0drxs (performance) 68 8880 eo@omnews?

ey eD.
E- ¢0 395 mosfwens (liquid crystal technology) o8oem 83 ;89 gm0 28m m¢ w8 o.

som A Oged o O O 3820 B Oged g8 8808 wds meBe B «. ddedd B88xG; ogwd S®
0 €88 goc e oA oy BewT BIEIm.

A g9 B oq®

1- ge0dSmdn BGes (infrared) P -0 SSm0c0 ¢uin oBogeend gety Hef 6200m
T - mime 6~ (microwaves) ®» (unguided media) e®.

K - gmom moiy (optical fibre) Q-coim ©:Bcuens oo »R B vr8m 68,

, 2 = R -doz! 68n g6eS mogm, dosd 68p ond 850
L - o@6 g =88 goc(twisted pair) 00 diost 8> 88w oo ©8m »68.

S-8¢g6; @O ne 8eom Foecin g (P odegesa
cewo 58n 268,

wom A 8D E g9 oddc =6 ¢ ©¢/0im» 84dd ocmzim.

A - Beyt mend B8xw B -IP @88»w

C - Bs®0Ba (protocol) D -c08 880 (web browser)

E - 08 890

Pum eddc B0 8 808 eem BOCE cewdtn ton G Edneds endbeon Berlin. 8a 88s ne
Qoies! eEACK® 0 8e CLpdEin B89 Lo&k.

@Bcia®: [phitaz.anand @yahoo.com, Internet Explorer, k, myinfo.html, 192.168.1.2, google, http, www]

8w ¢SO,
A | B C
A—>o— ) é 0 |0 | ® |
B 0 1 | @
1 0o | ®
1 1 L&)

AL

g mppd Seged S

|

g0 mnapd ez )



OL/2013/80-S-1, IT - -

(v) 10101010 o> ¢8O €3:3m90, @D 338000 o80bmzxs wOzim.

z (vi) ASCIl &8 cuid nOun §8» G 8wo ¢IOBIB.

(vii) A-Ecce sdac ndé ¢ son cog® (devices) aeoTID. ‘
A - 86, e BuOmw (barcode reader) B - eyt 2® e (CD writer)
-C - 8da (monitor) D - §8ma (mouse)
E - ;388w (scanner)
om ont O conde @, g8 ovd gD 8> eqm® 8¢ ne vl copdod 8 ezt wdsiD.
25 88z ne grles! eddcw 8w S0 28 88n6 uoes E008.

(viii) oo RV enp® Sigmi-wen (image editing software) e®0c® R von ¢ed. 98 A-E oce
eddc 6 g POCROBH we WmB & 8o (SOTie.

A |l 1P
Kije=C

ix) mon ¢sledxies’ sxilun g9 efv oemm oo S8 O €®oes o SogeEn BniBed efvied e’
30808 206 OGBS B0 Bebens B8O ©Sn we Wi Oxd onmad. 680 - ecac soo gep
BOess 390, & g o 8uinsds enidd Bosin. egdCw 00 F5¢ BOes 08¢ u@a 808 e N
8Os vrified g0 €8 o%mm e g, HBoese o o €0wmoed &8 8@ ¢ &g ozl 80
CBEnmHG OB, '

euBdn®: [avg, H, N, total]

begin
total=0
input N
for (counter= 1 to @- )
input
total= total+H
next counter
avg= —©—/ N
)

: output —=—
. end

(x) owon edged @ -D edacoco gen Sgmoee OB § 78 C8e8e0s? endd Bamim.
2011 w0 2012 SescOe Sbmsnmm GO twen O Speses 6nSs Sgees! eded. 2011 = 2012
OesdOe_ D08 Dbwionms cufn Sedm 08 08 o _emgsinn B ¥ @ el @300 @pHO0
........ @.... = 05 =GB, gring Oy ©@ P @© 20 goges S BB HEInId eqmrs #g

& & Desels @O Obmsnmes ¢ oHmme Bid. PTISLY +eve o eunnn 3 008500 eom 2011 00 2012 LessOe
Ouonnzy GO0 eseseSnt DoimDes cmesd. D& eI ¢ i = ©008m emod By »O BBOg
e si0s.

SBERD: [eoim 5fgs (database), OBo® Dagmo-®S (presentation), e=9® wzdme (search engine),
o6 @em (spreadsheet), coesdBmo Sgma-oo (utility software), D¢z esengy® Sagzoe@e (word processor)]
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A-T

B-T
C-F
D-T
E-T
[1 correct =>)%, 2 correct =>1 mark, 3 correct => 1.5, 4,5 correct=> 2 marks,
total 2 marks]
(ii)
I-R
J-P
K-S
L-Q
[each correct % mark, Total 2 marks]
(iii)
A —phitaz.anland@yahoo.com
B-192.168.1.2
C-http
D —Internet Explorer
E —myinfo.html Coelln gl Wa Wt
[1 correct =>% , 2 correct =>1 marks, 3 correct => 1.5, 4,5 correct=> 2 marks,
total 2 marks]
(iv)
P=0, Q=1, R=0, S=0;
B..c . [each correct % mark, Total 2 marks]
—) S . O
. q -
(v) e - o

10101010 is equivalent to decimal 170 <
[1 for steps, 1 for final answer. Total 2 marks]

god mepd Sezsed Smoe)
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- o ~N

) ~® 5

-3 ?,T“
(vi) . L -& e

Computers understand only binary numbers( or bit seguences or bit patterns). To the computer
to understand all characters which include alphabetic and other non-numeric characters, the
relevant characters must be mapped to numbers. / International codes such as ASCIl are used to
map input to binary numbers( or bit sequences or bit patterns./ Encoding schemes are used to
map the symbols of our spoken, mathematical, and graphical languages into numerical codes(or
bit patterns/bit sequences). Each of these schemes defines a one-to-one mapping between a
symbol and a number({or bit patterns or bit sequences)/ to enables multiple computing systems
to communicate with each other by standardizing the coding of letters, numbers and

punctuation.

Boanardd exdiBon mmlers ¢8O t.@x (ewf & Axy O) ©OH. 8N Bug® an

o]

cee (9Snd. amd:. Beds oG2slzn mBc) esBwenmearto e0®on 08 =82 IBec

21030 apdives ne goo. ASCll 918 “mosind e Q® Ow 9g ®»38. / es M0

D0 080T, God ¥ oo, ¢SO o> OO WwE®D ASCII B eomden 85308
0B 208. 608 6308 BYerens 3 geS oo ® gom and & - (S7)

¢ C1EORES §18302 §129156O8.

[No partial marks, 2 marks]
(vii)
A, D, E = input device/ T/
QD) CLR®
B =input and output
I ) BBED Con®
C = output
58c> con®
T [1 correct =>%, 2 correct =>1 marks, 3 correct => 1.5, 4,5 correct=> 2 marks,
€ P total 2 marks]
(viii)
4 1 ,_t\ No\sa.\'
) A =rectangular marque tool/rectangular selection. S & |1
( @®DcO) sagfemientgmd Bwusl of3® y
B =Cropping/selecting unnecessary parts of region of an image
Brigcum 18 ¢»dns 006 OEmd, 4d6s emdes ems omid O Re.
———————
o3 . -.,..‘ - 6 :'... . -.‘.‘- - =
‘@ Lansa (B [\ (A ELECICTIACade
> 2 (G god moapd Sezeb S R & god mepd Sezef 5
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C= Magic Wand, selecting areas of similar color/ selects all pixels or a like color that are
touching the pixel, /[ & Sec) ething tenl,

©®1 e g8 gedn o388 / B8Bwue Bfecumd gac dbea a8 &S 8uiEc®
esI0e.

D=Eraser/erasing, ®8®

E=Paint Bucket/fills an area of an image based on color similarity of selected area / The
Paint Bucket tool fills adjacent pixels that are similar in color value to the pixels you click.
B5390wn emicinsd emdes end e®ulien 8rinds &m RBuim aiB6e. /enicios
Becos 20 S5 91088.

[1 correct =>% , 2 correct =>1 marks, 3 correct => 1.5, 4,5 correct=> 2 marks,
total 2 marks]

(ix)

o
[

avg
[each correct %2 mark,. No marks deducted for differences in lower case/upper case of
o geelia g variable names, Total 2 marks]

(x)
A- Search engine eeg® wsinw

R. Snroad choot sa, - Beanm
8- Spread sheet 51 xC®

Nt b

{each correct ¥ mark, Total 2 marks]

[Totai 20 marksj

e
. .

E}G\"g Z"J{D‘jﬂs 5%6’: &I}J‘Z qu}’; B‘{'D:ﬁ\’.s 5%2‘}3; C%)?IE
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Q2

N\

D. The following spreadsheet segment shows a bill for the items purchased by Akila from a stationary shop:

4] A B c D E

=

2 ltem Unit Price | Quantity Value

3 Blue Pen 15 2 30
4 HB Pencil _ 10 3 30
5 Eraser 5 2 10
[ 40 page exercise book 25 5 125
7. File cover : 0 0|
2 Book covers 20 5 100
9 Total ' 295
10

(i) Write the correct formula that can be used in cell E3 to calculate the value of Blue Pens purchased.
(ii) The following shows the steps that are required to copy the formula entered into cell E3 to cells E4 to ES:

Move the cellpointer to cell .N....
Move the mouse pointer to bottom . comer of the cell till shape of the pointer changes to + symbol.

While pressing left mouse button drag the pointer to cell address ..\
Write down the correct terms for labels@‘and©.
(iif) Write the single spreadsheet function that can be used in cell E9 to calculate total value of the bill.

(iv) Write the function to find out the most expensive item based on the unit price given in column C of
the spreadsheet.

(v) Akila purchased two file covers. However, by a mistake the quantity was entered into cell D7 as 0 as
shown in the above spreadsheet. Write the addresses of the cells in which values would be automatically
updated if the correct quantity is entered into cell D7.

i =C3*D3 or+ C3*D3
[2 marks]

i A-E3, B-right, C—E8
[ 1 correct =>1 mark, 2 correct =>1 %, all 3 correct =>2 marks, total 2 marks]

iii. =sum(E3:E8) or + sum(E3:E8)

[2 marks]
iv. max
& amay { c3:C8) [2 marks]
V. E7 and E9 %5

[1 mark each — 2 marks]
[Total 10 marks]

e
. .

BN

\
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Q3

3. The school canteen sells a number of food items supplied by several suppliers, The canteen maintains a datubase
with three tables to store the food items currently in stock, their suppliers and items purchased from the suppliers,
as shown below.

ItemID[ IName Stoc SupplD | SName | Phone Date |[SupplD | ItemID [ Count

1001 {fish buns | 15 S001 | Saman |0334449226 | |21/8/13]S001 | 1003 |25

1002 |tea buns 16 S002 | Meena |0221189151 | |15/9/13]S003 | 1003 |25

1003 |rolls 13 S003 | Niyasz |0115707600 | | 15/9/13(S002 | 1001 | 30

1004 | patties 11 5004 | John 0112908800 | | 15/9/13{S004 . | 1002 |25

1005 |fruit drinks| 19 , 16/9/13(S003 | 1004 | 25
Supplier Table 16/9/13(S001 | 1005 | 50

Food Item Table
‘ Purchase Table

(i) List two primary keys with the corresponding table names.

(ii) A student goes to the canteen and buys one fish bun and a fruit drink bottle.
(a) What table(s) need(s) updating?
* (b) Write down the relevant updated record(s).

(iii) The canteen decided to add cutlets as a new item and purchased 25 of them frorn the supplier Meena
(SuppID: S002) on the date 20/9/13.
(a) What tables need updating?

(b) Write down new records that have to be added to relevant tables.

Food Item Table es ¢0x O@® , ItemID
Supplier Table , 810@®e005ied O9d SupplD:
TN 5,3\\ S Quy) e
[for correct field and table name combinations 1 mark each(1x2). No marks for incorrect

fieldnames. No marks deducted for differences in lower case/upper case of field names
= total 2 marks]

Food Item Table
! A [ If invalid additional tables no marks, total 2 marks]

»® -
1001 fish buns 7~ 14
1005 fruit drinks 5 e
[All field values has to be correct! If invalid additional records given no marksawarded. No
marks deducted for differences in lower case/upper case of IName field values, 1 each,
' total 2 marks]

e
. .

BN

9 [ELIERIICT{ACaden ’

E}G\"g Z"J{D‘jﬂs 5%6’: &I}J‘Z

Ep?»e; m{rgﬁvs 5)‘%21; S



(iii)
(a) .

Food Item Table, Purchase Table

8193 D@D, 8D VRO dYd

[1 each . 2 marks]

(b)

Food Item Table add the following record

190 DRV B @JeING ES DIBIH

1006 Cutlets 25

Purchase Table add the following record 6D 2
Bc2uB® OO0 vuv 83¢Hs eldeING gES DOTH
20/09/13 S002 1006 25
[ Table names not compulsory, Item ID has to be Unique. Other field values have to be correct,

1 x2 marks, 2 marks]

A T
epwg AP zkzﬁm S

9 Lansa (B0 [\ e ° 9 Lansa (50 [\
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Q4. | 7
. 4. (i) Consider the following statements labelled from A to G :

A - The first page that is displayed when a Web site is accessed i callel 8 s mesesnones

B = Giiissavess ....are used to link web pages.

Gl Ftlivessssre containing frames, tables etc. could be used to develop web pages.

D - A collection of web pages relating to a topic is generally called a .................

E - Software that are used to design, create and publish web sites are called .........cooovviviieniienns
B « A eecononn Gopmeaverael can be used to view a web page created in HTML.

G - THE iissessvcvvios- instruct the web browser on how to display a webpage.

Find the most appropriate term to fill the blank of each statement using the list given below. You are|
only required to write down the label and the correct term.

List: [Authoring Tools, Home Page, Hyper Links, Markup Tags, Templates, Web Browser, Web Server,
Web Site]
(ii) Consider the html source code and its corresponding output below. The source code has several missing
tags indicated by(D to(3. Select the correct tags from list given below. You are only required to write
down the label and the corresponding HTML tag.

List: [B, BR, H1, H2, H3, HEAD, HREF, IMG, LI, OL, P, TITLE, UL] %
Source Code Output
<HTML>
<HEAD>
< TITLE > Information and Communication Technology</ TITLE >
<HEAD>
<BODY>

<(@ > Introduction to Flow Charts <(@)> and Pseudo Codes </@®>| Introduction to Flow Charts
<P> Flow Chart is a graphical representation of an algorithm. </P> and Pseudo Codes
<H2> Flowchart Symbols </H2>
<P> A set of standard symbols is used to draw flow charts. </P>
<OL TYPE=1 START =1> Flowchart Symbois
<U> < ()>Terminator</(3)> indicates the Start
<BR> and the Stop of the algorithm.

Flow Chart is = graphical representation of an algorithm.

A set of standard symbols Is used to draw flow charts.

|. Terminator indicates the Start

<U> <(@) >Process</(3)> represents a command or a ont s Sy of 0 soihen
sequence of commands. 2. Process represents 2 d or 1 seq of d
<Li> <@>|/0</@> represents data Input/Output. :. &'3;'..'1'“" i
> <soecisons</@. & S vt 1 vt i e
<U> <@ >Connectors</(@)> are used to connect points
in flow chart. 4 Pseudo codes
<Li> <@)>Flow Lines</()> show the direction of data flow. Pesuto cods 1 a high-devel teecrpion of an
</0L> algorithm for a computer.
<H2> Pseudo codes </H2> exsmple
Psaudo code is a high-level description of an O BEGIN
<@ >algorithm for a computer. O INPUT %, ¥
<H3> example </H3> S OUTPUT sm
<@ TYPE=CIRCLE> S
i ~ <LI> BEGIN
<UL TYPE=CIRCLE> FOI NG o Bunt
<Li> INPUT X, y -
<Ll> sum=x+y @
<LI> OUTPUT sum
</UL>
<LI> END
<@> »

<H2> Flow charting Is Funl</H2>
< (®) SRC="smiley1.jpg">
</BODY>
“<HTML>

-

e
L .
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(i)

A - Home Page 8890

B - Hyper Links aes s3Iz

C - Template 2128

D - Website e eddwuxs

E - Authoring Tools @0 L® c00c®
) - Web Browser @0 803

G - Markup Tags coeda 18a®

[1 correct => 1 mark, 2 correct=>2 marks , 3 correct =>3 marks, 4-5 correct => 4 marks,
6-7correct =>5 marks]

(i) 1=H1, 2 =BR ,3=B ,4=UL ,5=IMG

| — W *Tamil version 1 mark awarded for 3
. v)
B [ 1 mark each = 5 marks]
2 =R
Sl [Total 10 marks]
tum U
5 .~1LMG
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(Q5)

5. (i) Write' down the maii diftérénce between a”compiler interpreter.

drinking fruit juice stored in a refrigerator.
Write down the correct symbols for them.
rect symbols against them.

(ii) Consider the following flowchart that shows the algor
Six symbols (labclled@ @ ) are missing in the fl¢
You are only required to write the labels and draw

Go to the kitchen

}

Open refrigerator

(iii) Draw the relevant flowchart segment to Wt the following:

Input temperature

if temperature > 32 °C

. Output ‘Hot’

else

if temperature > 20 °C
Output ‘Average’

else
Output ‘Cold’

, endif

endif

I
|
No ' Do you e - . S, — . TR :
le?'zsgg:he 1 | want it? O : :
! Wash and store 1 End
s glass to dry "| 'ki—=(:)
J' Yes : :
Pt ¥Rl oo
f ' Take out B,
&= Ead | juice bottle Drink juice
i : L T |
L e
Get a glass| let;];sggg)e
Pour juice in Put the bottle
BL‘SS in fridge

e
. v
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Complier translates the highlevel language statements into machine code by taking the entire
Qi'ogram as _input while interpreter does the same by taking one statement at a_time/both
compiler and interpreter convert high level language into machine language, but they differ in
the way they carry out their task(compiler convert the whole program in machine code and
keep for execution while interpreter only translate one instruction at a time and execute it). The
compiler scans the entire program first and then translates it into machine code which will be
executed by the computer processor.

80000, §O Dag10us® OmOS eom, 68 Dos8 Wiy ©IwOd ©EOkBM™G 8. Sewns
&bl Bmmenes ®igmived O O DosiBe O30 S 1853 eom detd 2I8.

(3 marks for the difference. No partial marks. The underlined difference has to be included in
answer for the marks to be awarded, 3 marks]

Oval symbol is also accepts as START/END symbol

[%2 marks for each correct symbol = %x6= 3 marks]

E}"J z’:‘(‘?‘s Siﬁbg e epaef m\rgﬁs 5%25 S

9 Lansa [B7 [ealam o 9 Lansa (87 [\ea]



(i) P /

[input = 1 mark,
1% decision box with both correct labels = 1 mark,

2" decision box with both correct labels if 1* decision correct = 1 mark ,
e B e

Y
>

Overall correctness (with single final output line)=1 mark
Total 4 marks]

[Total 10 marks]

:....-...."‘ - 15 Letttee,
3 Lansa IEUM S\ ‘@: Lansa [@Um
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Qb

6. (i) The following diagram shows the correct posture that can be adopted to avoid Repetitive Stress Injury
(RSI) when using computers. Some of the aspects that need to be taken into consideration are noted and

others have been labelled as(@ (D .

ZAA =i

Explain what precautions should be taken in relation to aspects lzbelled from (B - (D).

(i) Briefly expiain how information and communication technology is used in the following arecas. Your answer
should include one example for each.
{a) Tcle medicine
(b) Government to citizen services

(iii) Assume that a new computer laboratory with intermnet connection has been provided to a school. Provide
one sugestion that you would propose for each of the following to look after the laboratory.
(a) Improving physical security
(b) Protection against malicious code
(¢) Improving logical security

(i)
P-eyes looking straight/keeping monitor at an appropriate distance

el e / How Qgghgé GenwBsl o B (Fham @) Nk
Q- back support

Bgeest grdman win grms 0o 800 / 8oemisie ¢khd nan oHe.
R- Chair with correct/appropriate height

83683 / BT e e8m g 080 S88.
S-foot stool for correct positing of feet

203 BT 2@ OO we®I B¢ PO 0IOVHS
J- Monitor ateyelevels [ o below .

Bow gred ©008s3 / g1ef @000 O suEs’ m eBe.

|1 correct =>1 mark, 2 correct => 1 % marks, 3 correct =>2 marks, 4 correct=> 2.5 marks, 5 correct
" => 3 marks]

e — - v
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(it)

(a) Telemedicine- is the use of telecommunication and information technologies in order to
provide clinical health care at a distance by a medical professional /using internet and
observing patients and record keeping at distant places/ telemedicine is the use of
medical information exchanged from one site to another via electronic communications
to improve a patient’s clinical health status. Telemedicine includes a variety of
applications and services using two-way video, email, smart phones, wireless tools and
other forms of telecommunications technology./ refers to the use of communications
and information technologies for the delivery of clinical care (note : non-medical person
browsing web or a patient channeling a doctor using web is not telemedicine. )

£Cedn 008 2e98x dndden @D R g emwdn edd DatBndst
8853 emond; ¥ ex38edes s 8w B8, exinbdhcs HIdmewrs ¢oeioD
e0iBs3 HBomwein 1 Dilbion B OB /ediBued eunBD ewIas Bds 18¢ne
88O w¢wm o8 Shmon 80 208 HShmend gecediNs ds Wi ©edes
emondT ¥O&IGT Bd O1Be. dBewd, Jed®c, 2ga (Iim domsl I8 e®Oc® o
edms gmdens’ ©xiBedis Dueencs’ eIy CA® 6wkcd® w eI’

60Be0cme®8 018m 0. / ©1uHw etdDids! CEO wew emIond; ¥ BSIBede»
DNBED DITDHES. (0D | I@ims glocews O 853 ewond; G @iBe v
eqtincddeny ¥ 880 eOOS @ VN O DO eces c:.{cma emca8.)
[1 mark for explanation and 1 mark for example =>2 Marks]
(b) Government to Citizen Services- Use of internet to provide government services to
citizens/ consists ofthe digital interactions between a government and citizens {G2C)
Obtaining revenue license for vehicles using srilanka.lk/providing information on

government services{gov.lk, 1919}/ obtaining gazettes, application forms ,circuiars etc
from government web sites/ obtaining exam results from Dept examinations/ Buying

train tickets from Railway Department.
80188530 Cewrs’ wewny etdd gsinbidhcs ©dwr R MBe. (8 disses, esimbdhc
e, goSmy Csn, OWeon HEsw el BIBITD GKSsw drnews »ETedD) Ttw

5% Qd@z&azﬁ and @82 esinl e®sidmOes (GTOC) et 38 awm.
3&W g,G%us\rS %\Mﬂ
Srllanka\% e a0du IdnerSs D FGe® AC vy A V. CKds eSS

. 8D emondy car 2. (govlk, 1919) , vesd onw c@r 80. ace® on Omeda,
¢®8s, geda vy 05 S OB, , v BOC Swiv @ ecbme®sineds’ @
&®.)

1 mark for explanation and 1 mark for example =>2 Marks]
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(iii)
(a) Securing access to lab using secure locks, doors and windows/security person/UPS/

CCTV/ lightening arrester/voltage stabilizer,/protection from environmental factors such as rain,
humidity, dust etc

Bepamided e demEDEd 08D BRE @wIE BITEEID B BEE,
/ YomSie0n 0wg®/ UPS/CCTV/enea wximocm, ©0IESwmn tdom/ Oredes, BIGNOS
65€ 1B S08m @i OB e S ©1538. [ 2hacent s o s, | Myvep

QO

? =\n ‘/\7

(b) Installing a virus guard /anti adware/popup blockers/anti spyware(key stroke loggers), and
keeping the malware definition file updated/ keeping operating system updates uptodate,
installing a firewall

U8 ©ed0t ®imin edeme / g0es (308 Oem0m / Popup demom/ 58 A5y

NCe® agmio (Key Stroke loggers) esm eSS« Oag100 SIS emInd OB m 888,
©®er® ©¢OBe WOTIBHD B 1 RE, BH 880 eemn 888,

(c) using passwords, keeping backups
80 ©¢ ©208me, backup m@s o Re.

SC weerd 7 Cefed osm —R [1 mark each. = 3 marks]
[Total 10 marks]
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* system:

(if) Traditionally organizations have used printed documents and telephones as media of communication.

7. (i) Nazeer was asked by his teacher to develop a computer based library information system for his school

He listed down the following activities labelled from P - U, in order to develop the library informatio

P - Identify the objectives and requirements of the system

Q - Check the feasibility of developing a new library information system

R - Study the current manual system using different data collection techniques

S - Design a better system for the library to manage its activities

T - Write the computer program using a selected programming language

U - Test the program for errors and deploy (implement) the new library information system
(a) Write two types of feasibilities Nazeer should consider about the proposed library system.
(b) Name the stage of the System Development Life Cycle (SDLC) indicated by activity with label R,
(c) Write two data collection techniques that Nazeer could use to carry out the activity with label R.
(d) Name the stage of the System Development Life Cycle indicated by activity with label T.
(e) Write an activity Nazeer could do after completing the stage labelled as U.

Presently, many organizations use email and other internet based services for communication.
(a) Write down two advantages of using email,
(b) Write down two disadvantages of using email.

(c) Write down two internet based methods other than email that organizations could use for
communication.

Operational feasiBility/ economic feasibility/ technical feasibility /41 w-c wd LSclha uio
e®eE® GO / liSn ®BED/ MTeRD E®BDE [ Kmaw 2ol s
TR A WA = :
[1/2 mark each — 1 marks]

Systems analysis/analysis
ol BdeCuers / BdeCeenc
[ 1 mark]

Interviewing/ observation/ document observation/ questionnaires,[d‘rm [8awa@ul : -~
©=88m 00 / BiSueic / B8 evir) o800 / @508 / .

A welduveny :V\"feg o
i [1/2 marks each — 1 mark]

‘coding/ programming/software implementation/software development

oBondens / HOeCEAD B8O / ®igmrw e.06dmS
VAN S RN c\@k)b[e? oy — e
[ 1 mark]

maintaining the system by fixing bugs, making modification to the systems etc

- (A8 DT ( @¢de Bowwserw, édBEO 0en eONLEHN® SEO)

Syt e w weo N R bt

LR dainy - em AR\ [1 mark]
\,\r‘\ &'\OA" wB | — ‘\f\b“‘. LQ_\’)) g ) \Q
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(a) faster/can have attachments such as videos, images etc/ cheaper or free/ could
send multiple copies/protection from physical damage such as water/24x7 or any
time/ location independence or can send and receive from any place/system
notification if undelivered

e00ds / Ay ®ds #18w® D00 WBEO / w8 el e28eE /
80vs 88w ©veeds’ S0 018 80 / enulin gicmed (Scenss ,
B8Btests O1B) / 24 x 7 0f B52® eOEOD® / B53® ™ & ©idon e
B 8O / cr@em ¢ e o Do ¢ OBO0 v Be.

[1 each, 2 marks]
(b) virus can spread with email/internet connection required for recipient and
sender/issues relating to (privacy, confidentiality, security) or mail account may
be hacked/internet connectivity cost/language and/computer literacy
barrier/possibility of sending to a wrong recipient asily/sqb\ -y

©e0JdeS 8080 / @dBIZN0 ¥ CRATIHO @TIHTLHCE PATION SO

30asd®/ es9doBmsIOw, Cuess DG M Giowed ¢ ACH® e®ld

853 qud By med 8e®0 g»dedewns gedan DOO /esImodc
53003 @ BOD v» Bwe®d #iB WBwD/ Wiy 0 fuboen ¢
edas 8® / 868 gldocennd B0 ¢ :mBw© 8 Be. / zb)hwn&x\ & *’\Q

[1 each, 2 marks]
(c) chatting/ teleconferencing/ videoconferencing/ internet based
messaging/internet telephony/social media or social
network/newsgroups/forums/blogs/website/ftp

BensS 250w /¢0edn e300a¢ /BBewd t3001¢/83mtsiBn vB80 HOIS1D/
gBIDTEIC (OIS /63018 @11 @] 3818 BIE /DS 308 /e30D0¢ o)
/@@(39?5’&3’ / 00D 08 /e®iz) ¥O®ITT B

% [ % each —1 mark]

[two examples should not have overlapping
meaning. If the same meaning is provided
marks awarded for only one example]

[ Total 10 marks]
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